Em=AR T(19,11,30,19)

AABC OWNERICSE P %
/PBA = 19°, /PBC = 11°, /PCB = 30°, /PCA = 19°
YRBESICE B R, /PAC DAZ X% Rk,

AABC O4bh% Q £ 35, QA =QB=QC
ZAQC = 2/ABC = 60°
X, AAQC RE=MKTH 3,
/CBQ = /BCQ = 60° — (30° + 19°) = 11° = /CBP
i BQ DIERHAR EIC BR=BP 4 3m R%ZLdL > O
2 ¥ HfH% & ) ABRC = ABPC T5 5, B = C
CP = CR, /PCR = 2/PCB = 60°
X-T, ACPR BIE=MAKTH 3,
AAQC ¥ ACPR H3¢ b ICEZMHTH 205
APAC = ARQC
/PAC = /RQC = 2/RBC = 22°

G
—HRIZ, a+b=30° c=30° d=a DEBRBHED IO E, e=2bTdH3,

a b c | d| e a b c | d| e a|b|c| d]e
112930 | 1 |58 1119 (30|11 |38 21|9]30]|21]|18
2 |28 30| 2 |56 (12|18 |30 |12 |36 22| 8 |30]|22]16
3127 130| 3 |54 || 13|17 |30 |13 (34| 23| 7 |30]|23]| 14
4 (26|30 4 |52 1416 (30|14 |32 24| 6 |30 |24 ]| 12
5125130 | 5 | 50| 1515|130 |15|{30) 25| 5 |30]|25]|10
6 |24 |30| 6 |48 |16 |14 |30 |16 |28 | 26| 4 |30 |26 | 8
7123130 7 |46 | 17 |13 |30 |17 (26| 27| 3|30 |27 | 6
8 12230 | 8 |44 || 18|12 |30 |18 |24 28 |2 |30]|28]| 4
9 (2130 9 |42 (19|11 [30|19 22|29 1 1]30|29 ]| 2
10 | 20 | 30 | 10 | 40 || 20 | 10 | 30 | 20 | 20




